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Board Question Paper : March 2023  
mebmke=Àleced 

DeJeefOe: nesje$e³eced  HetCee&¹e: :  80 

efveOee&efjle mece³e: 3 IeCìs         DeefOekeÀlece DebkeÀ: 80 
Time allowed: 3 Hours   Maximum Marks: 80 

General Instructions: 
Read the following instructions carefully and follow: 
1. This question paper contains four sections – Unseen Passage, Creative Writing Skills, Applied Grammar and

Text-books.
2. Section A (Unseen Passage) contains four parts and attempt all parts with choice as given there, based on

specific instructions given in the question itself.
3. Section B (Creative Writing Skills) contains three questions. Attempt all three questions based on specific

instructions given in the question itself.
4. Section C (Applied Grammar) contains seven questions with choice as given there. Attempt all seven

questions based on specific instructions given in the question itself.
5. Section D (Text-Books Based Question) contains seven questions with choice as given there. Attempt all

seven questions based on the specific instructions given in the question itself.

KeC[: `keÀ'  10 
DeHeefþle-DeJeyeesOeveced 

1. DeOeesefueefKeleb ieÐeebMeb HeefþlJee ÒeoÊeÒeMveeveeced GÊejeefCe mebmke=Àlesve efueKele~
DemceekeÀced osMe: Òee®eervekeÀeueeosJe Òeeke=ÀeflekeÀ-He³ee&JejCem³e Hees<ekeÀ:~ JewefokeÀkeÀeues ³eÐeefHe He³ee&JejCem³e Òeot<eCem³e mecem³ee

veemeerled leLeeefHe Jesos<eg mLeeves-mLeeves $eÝ<eerCeeb He³ee&JejCeefJe<e³ekebÀ ef®evleveb ¢M³eles~ DeÐe He³ee&JejCe-Òeot<eCeb mebmeejm³e Yeer<eCelecee
mecem³ee Jele&les, Hejb pevee: Dem³ee: ieecYeer³e¥ ve DevegYeJeefvle~ He³ee&JejCeb j#eCeer³eb Je=#ee: jesHeCeer³ee: j#eCeer³ee: ®e Fefle Me=CJevle:
G×es<e³evle: DeefHe Je³eb Òeefleefoveb les<eeb keÀle&veb HeM³eece:~ `HueeefmìkeÀ' Fefle jmee³evesve efveefce&leJemletefve He³ee&JejCeÒeot<ekebÀ Oetceb ef#eHeleeb
Jeenveeveeced DeewÐeesefiekeÀ-³ev$eeieejeCeeb me*dK³ee efvejvlejb JeOe&ceevee Deefmle~ ³eÐeefHe efJekeÀemee³e veJeervee: DeeefJe<keÀeje:, DeHesef#elee: Hejb
meáeeje³e efJemle=lee: megjef#elee: ceeiee&: peveeveeb ke=Àles DeefHe DeeJeM³ekeÀe: SJe~ ³eefo He³ee&JejCeb ÒeeefCepeerJevee³e DevegketÀueb ve YeefJe<³eefle
leefn& He=efLeJ³eeb peerJevecesJe DemecYeJeb YeefJe<³eefle leoe YeeweflekeÀefvekeÀemesve efkeÀced! Dele: meJe&keÀej: pevemen³eesiesve meJe&Lee He³ee&JejCe#eCee³e
³elveMeerue: YeJesefoefle~

 (De) SkeÀHeosve GÊejle – (kesÀJeueb ÒeMveÜ³eced) 2  1 = 2 
i. kesÀ jesHeCeer³ee: j#eCeer³ee: ®e?
ii. keÀoe He³ee&JejCem³e Òeot<eCem³e mecem³ee veemeerled?
iii. DemceekebÀ osMe: keÀm³e Hees<ekeÀ:?

 (ye) HetCe&JeekeÌ³esve efueKele – (kesÀJeueb ÒeMveÜ³eced) 2  2 = 4 
i. efkeÀ peevevle: pevee: HueeefmìkeÀ-efveefce&leJemletveeb Òe³eesieb yeengu³esve kegÀJe&efvle?
ii. ³eefo He³ee&JejCeb ÒeeefCepeerJevee³e DevegketÀueb ve YeefJe<³eefle leefn& eEkeÀ YeefJe<³eefle?
iii. kesÀ<eeb me*dK³ee efvejvlejb JeOe&ceevee Deefmle?

(me) Dem³e Deveg®ísom³e ke=Àles GHe³egkeÌleb Meer<e&kebÀ mebmke=Àlesve efueKele~      1 

(o) ³eLeeefveoxMeced GÊejle – (kesÀJeueb ÒeMve$e³eced) 3  1 = 3 
i. `pevee: Dem³ee: ieecYeer³e¥ ve DevegYeJeefvle' De$e eEkeÀ ef¬eÀ³eeHeoced?

(a) pevee: (b) De$e (c) Dem³ee: (d) DevegYeJeefvle
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  ii. `veJeervee:' Fefle efJeMes<eCeHeom³e efJeMes<³eHeob efkeÀced? 
   (a) pevee: (b) DeeefJe<keÀeje: (c) DeHesef#elee: (d) ceeiee&: 
 
  iii. `Mees<ekeÀ:' Fefle Heom³e eEkeÀ efJeueesceHeob ieÐeebMes Òe³egkeÌleced? 
   (a) efJe<e³e: (b) ef®evleveer³e:  (c) mejue:   (d) Hees<ekeÀ: 
 
  iv. `Je³eb Òeefleefoveb les<eeb keÀle&veb HeM³eece:~' Deeqmceved JeekeÌ³es `HeM³eece:' ef¬eÀ³ee³ee: keÀle=&Heob eEkeÀ Òe³egkeÌleced? 
   (a) Je³eced (b) les<eeced  (c) Òeefleefoveced (d) keÀle&veced 
 
       KeC[: `Ke'    15 

j®eveelcekeÀ-keÀe³e&ced 
 
2. YeJeleer ÒeYee Deefmle~ mJeceelejb Òeefle mJemJeemL³eefJe<e³es efueefKeleced Fob He$eb ce¡et<ee³ee: mene³ele³ee Hegve: mecHetCe& efueKeleg~ 

10  1
2

  = 5 

         efJeÐeeue³eHeefjmej: 
(i)  _______ 

 meceojCeer³ee: (ii) _______, 
 meeojb ÒeCeecee:~ 
  
 De$e kegÀMeueb le$eemleg~ mecÒeefle cece (iii) _______ Hejer#ee meáejefle~ De$e íe$eeJeemes Heþvem³e JeeleeJejCeb leg MeesYeveb Jele&les~ 

De$e DeO³eeHekeÀe: DeefHe ®e DeleerJe keÀce&þe: meefvle~ Dele: Heþvem³e keÀe³e¥ (iv) _______  SJe YeJeefle, Hejvleg DeO³e³evekeÀejCeeled 
Me³evem³e Yeespevem³e ®e (v) _____ SJe ve ÒeeH³eles~ Dele: DeÐelJes cece (vi) _______ megÿ veeefmle~ Denb (vii) _______ 
Heeref[lee Deeqmce~ Hejb keÀeef®eod DeefHe (viii) _______ vewJe keÀjCeer³ee~ DeeMeemes Denb MeerIe´cesJe HetCe&le³ee mJemLee YeefJe<³eeefce~ 
Hejer#ee³ee: Devevlejb (ix) _______ Deeieefce<³eeefce~ leoe Je³eb efceefuelJee Ye´ceCee³e JeejeCemeerveiejb ieefce<³eece:~ efHe$es (x) 
_______~  

 
 YeJel³ee: Heg$eer 
 ÒeYee  
 
 
   
3. ÒeoÊeb ef®e$eb ¢<ìdJee ce¡et<ee³eeb ÒeoÊeMeyoeveeb mene³ele³ee Heáe JeekeÌ³eeefve mebmke=Àlesve efueKele~    5  1 = 5 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 

ce¡et<ee 
 
Jeeef<e&keÀer, efMeceueele:, pJejsCe, ceele=®ejCee:, ie=nced , mJeemL³eced , mecegef®eleced ,vece:, mece³e: , ef®evlee~ 
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ce¡et<ee 
 
 
 
  

DeLeJee 
 ce¡et<eeÒeoÊeMeyoeveeb meene³³esve efvecveefueefKeleb efJe<e³eced DeefOeke=Àl³e v³etveeeflev³etveb HeáeefYe: mebmke=ÀleJeekeÌ³ew: SkeÀced 

Deveg®ísob efueKele~            5  1 = 5 
`Je=#ee: DemceekebÀ efce$eeefCe' 

 
ce¡et<ee 

 
 
   
4. DeOeesefueefKeleeefve JeekeÌ³eeefve mebmke=ÀleYee<e³ee DevetÐe efueKele~ (kesÀJeueb JeekeÌ³eHeáekeÀced)    5  1 = 5 
 (i) keÀue legce keÀneB ieS Les? 
  Where did you go yesterday?    
 (ii) Iej kesÀ yeenj cele Kesuees~ 
  Do not play outside the home.  
 (iii) Yeejle $eÝef<e³eeW keÀer Yetefce nw~ 
  Bharat is the land of saints.  
 (iv) nceeje peerJeve DevegMeeefmele nesvee ®eeefnS~  
  Our life should be disciplined.  
 (v) ceQ DeHeves pevceefove Hej osJeeue³e peeTBiee~ 
  I will go to the temple on my birthday.  
 (vi) nce yeeie ceW Kesueles nQ~ 
  We play in the garden.  
 (vii) yeeuekeÀ efce$eeW kesÀ meeLe Heæ{lee nw~ 
  The child studies with friends. 
       KeC[: `ie'    25 

DevegÒe³egkeÌle-J³eekeÀjCeced 
 
5. DeOeesefueefKeleJeekeÌ³es<eg jsKeeef*dkeÀleHeos<eg meeÅvOe meeqvOe®ísob Jee kegÀ©le~ (kesÀJeueb ÒeMve®eleg<ì³eced)    4  1 = 4 
 (i) ¬egÀ×: eEmen: Flemlele: OeeJeefle~ 
 (ii) Òeke=Àefle: + SJe MejCeced~ 
 (iii) Goerefjle: + DeLe&: HeMegveeefHe ie=¿eles~ 
 (iv) Deef®ejeosJe ®eC[Jeelesve men ÒeJe<e&: mecepee³ele~ 
 (v) ceeced ve³e Demceeled + veiejeled yengotjced~ 
 
6. DeOeesefueefKeleJeekeÌ³es<eg jsKeeef*dkeÀleHeoeveeb meceemeb efJeûenb Jee ÒeoÊeefJekeÀuHesY³e: ef®elJee efueKele~ (kesÀJeueb ÒeMve®eleg<ì³eced) 4  1 = 4 
 (i) me: YeejJesove³ee ¬eÀvoefle mce~ 
  (a) Yeejced Jesove³ee    (b) Yeejm³e Jesove³ee  
  (c) YeejsCe Jesove³ee    (d) Yeeje³e Jesove³ee 
 
 (ii) Òemlejleues ueleele©iegucee ces YeJevleg efHe<ìe:~  
  (a) uelee ®e le©: ®e    (b) uelee ®e lejJe: ®e  
  (c) uelee: ®e iegucee: ®e    (d) uelee: ®e lejJe: ®e iegucee: ®e 

 
GÐeeveced , OeeJele:, peveew, JeeleeJejCeced, veiejm³e, ceefnuee, Je=#ee:, meeOeejCeced , efJeMeeueYeJeveeefve, yememLeeveced, 
mJe®íced, Òeleer#eeced, efle<þefvle, DeJekeÀjHee$eced~ 

Je=#ee:, melHeg©<ee:, HejesHekeÀejced, íe³ee, HeÀueeefve, Heg<HeeefCe, pevee:, HeJeve:, keÀe<þced, Meerleue:, mJeemL³ee³e, 
DeeJeM³ekeÀced, HeefLekeÀ:, Deevevoced, DevegYeJeefvle, Yetces: mebj#eCeced, Je<ee&, Heef#eY³e: Jeeme:~  
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 (iii) jecem³e meceerHeced GHeme=l³e ÒeCec³e ®e~ 
  (a) GHejececed    (b) GHejecesCe  
  (c) GHejece:     (d) GHejecem³e 
 (iv) keÀes Yeso: efHekeÀ: ®e keÀekeÀ: ®e le³ees:~   
  (a) efHekeÀkeÀekeÀced    (b) efHekeÀkeÀekeÀ³ees:  
  (c) efHekeÀkeÀekeÀm³e    (d) efHekeÀkeÀekeÀe: 
 
 (v) efJecet{Oeer: ceOegjb ve Jeoefle~ 
  (a) efJecet{e Oeer:    (b) efJecet{: Oeer:  
  (c) efJecet{e: efOe³e:    (d) efJecet{e Oeer: ³em³e me: 
 
7. DeOeesefueefKeleJeekeÌ³es<eg jsKeeef*dkeÀleHeoeveeb Òeke=Àefle-Òel³e³eew meb³eesp³e efJeYep³e Jee Gef®eleced GÊejb efJekeÀuHesY³e: ef®elJee 

efueKele~ (kesÀJeueb ÒeMve®eleg<ì³eced)         4  1 = 4 
 (i) YeieJeeved JeeuceerefkeÀ: JeOet: Fefle~ 
  (a) Yeie + Jeved    (b) Yeie + celegHed 
  (c) Yeie + JelegHedd    (d) Yeie + keÌleJeleg 
 
 (ii) meJex<eecesJe celke=Àles cenled + lJe efJeÐeles~  
  (a) cenÊee     (b) cenÊJeced 
  (c) cenÊJe:     (d) cenelJeced 
 
 (iii) eEkeÀ veeceOes³ee ³egJe³eespe&veveer~ 
  (a) veeceOes³e + leued    (b) veeceOes³e + lJe 
  (c) veeceOes³e + keÀlJee    (d) veeceOes³e + ìeHed 
 
 (iv) osMem³e mesJee meJex<eeb veerefle + þkedÀ keÀle&J³eced YeJesled~ 
  (a) veweflekeÀced    (b) veweflekeÀer 
  (c) veweflekeÀ:     (d) veweflekeÀ 
 
 (v) ve=l³eeefleefjkeÌleb keÀe leJe efJeMes<elee?  
  (a) efJeMes<e + ìeHed    (b) efJeMes<e + keÌle 
  (c) efJeMes<e + leued    (d) efJeMes<e + keÌleJeleg 
 
8. Jee®³eevegmeejb Gef®eleHeow: efjkeÌlemLeeveeefve Hetjef³elJee DeOeesefueefKeleb mebJeeob Hegve: efueKele~ (kesÀJeueb ÒeMve$e³eced)            3 × 1 = 3 
  (i) ceesnve: – jces! eEkeÀ le$e Meeuee³eeced iee³ekeÀ: ieerleeefve iee³eefle~ 
   jcee – Deeced, le$e iee³ekesÀve ieerleeefve _______~  
   (a) iee³eefle    (b) iee³eefvle 
   (c) ieer³evles    (d) ieer³eles 
 
  (ii) ceesnve: – eEkeÀ keÀeefHe yeeuee le$e ve=l³eefle? 
   jcee – Deeced, le$e leg Üs yeeues _______~  
   (a) ve=l³eefle    (b) ve=l³ele: 
   (c) veefle&<³ele:   (d) ve=l³eefvle 
 
  (iii) ceesnve: – efkeÀced FoeveeR lJeced DeefHe le$e ie®íefme? 
   jcee – Deeced, _______ DeefHe le$e iec³eles~ 
   (a) Denced    (b) Je³eced  
   (c) ce³ee    (d) lJe³ee 
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  (iv) ceesnve: – Dejs! ieg©: Dee³eeefle~ Denb leg _______ ÒeCeceeefce~ 
   (a) ieg©ced     (b) ieg©: 
   (c) iegjJes    (d) iegjes: 
 
9. keÀeueyeesOekeÀMeyow: DeOeesefueefKele-efove®e³ee¥ Hetj³ele~ (kesÀJeueb ÒeMve®eleg<ì³eced)                     4 × 1 = 4  
  (i) Denb efvel³eb je$eew (8:30) Yeespeveb keÀjesefce~        
  (ii) leovlejb (8:45) Ye´ceCee³e ie®íeefce~        
  (iii) leoe (9:30) ceveesj_pevee³e otjoMe&veb HeM³eeefce~ 
  (iv) otjoMe&veb ¢<ìdJee (10:00) Heþveb keÀjesefce~ 
  (v) je$eew (11:15) Denb mJeefHeefce~ 
 
 10. ce_pet<ee³eeb ÒeoÊew: Gef®elew: DeJ³e³eHeow: DeOeesefueefKeleJeekeÌ³es<eg efjkeÌlemLeeveeefve Hetj³ele~ (kesÀJeueb $e³eced)              3 × 1 = 3 
  (i) les meYee³eeb _______ cee Jeos³eg:~        
  (ii) ³eefo lJeb ceeb cegkeÌlJee ³eeefme _______ JesueeH³eJesuee m³eeled~      
  (iii) ³et³eced _______ Òe³eemeb kegÀ©le~ 
  (iv) ceeiex<eg _______ DeJekeÀjb ve ef#eHes³eg:~ 
 

ce_pet<ee  
 

 
 
11. DeOeesefueefKeleJeekeÌ³es<eg jsKeeef*dkeÀle – DeMeg×Heoe³e Gef®eleHeob ef®elJee JeekeÌ³eeefve Hegve: efueKele~ (kesÀJeueb ÒeMve$e³eced) 3 × 1 = 3 
  (i) HeJeveb Jesiesve Jenefle~          
   (a) HeJeve    (b) HeeJeveced  
   (c) HeJeve:    (d) HeJevesve 
 
  (ii) Denb Deece´b Keeoefle~ 
   (a) Keeoeefce    (b) Keeole: 
   (c) Keeoefme    (d) Keeoece: 
 
  (iii) ceesnve: ie=nb le$eeefmle~ 
   (a) ceesnveced    (b) ceesnveeled  
   (c) ceesnves    (d) ceesnvem³e 
 
  (iv) YeJeeved MJe: kegÀ$e ie®íefle? 
   (a) ieefce<³eefle   (b) Deie®íled 
   (c) ie®íleg    (d) Deeieefce<³eefle 
 
        KeC[: `Ie'     30 

Heefþle-DeJeyeesOeveced 
 
12. DeOeesefueefKeleb ieÐeebMeb HeefþlJee ÒeoÊeÒeMveeveeced GÊejeefCe mebmke=Àlesve efueKele~             5 
  keÀM®eve efveOe&vees peve: Yegefj HeefjÞec³e efkeÀefáeod efJeÊecegHeeefpe&leJeeved~ lesve efJeÊesve mJeHeg$eced SkeÀeqmceved ceneefJeÐeeue³es ÒeJesMeb oeHeef³elegb 

meHeÀuees peele:~ leÊeve³e: le$ewJe íe$eeJeemes efveJemeved DeO³e³eves mebueive: meceYetled~ SkeÀoe me efHelee levetpem³e ©iCeleeceekeÀC³e& J³eekegÀuees 
peele: Heg$eb ê<ìgb ®e ÒeeqmLele:~ HejceLe&keÀeM³es&ve Heeref[le: me yeme³eeveb efJene³e HeoeeflejsJe Òee®eueled~ Heoeefle¬eÀcesCe meb®eueved mee³eb 
mece³esçH³emeew ievleJ³eeod otjs Deemeerled~ efveMeevOekeÀejs Òeme=les efJepeves Heo³ee$ee ve MegYeeJene `bFefle efJe®ee³e& me HeeMJe&eqmLeles ûeeces 
jeef$eefveJeemeb keÀleg¥ keÀefáeod ie=nmLecegHeeiele:~ 

  keÀ©CeeHejes ie=ner lemcew DeeÞe³eb Òee³e®íled~  

leoe, Flemlele:, Je=Lee, DeefHe~ 
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  (i) SkeÀHeosve GÊejle – (kesÀJeueb ÒeMveÜ³eced)                    2  1
2

  = 1 

   (keÀ) keÀer¢Me: peve: Yetefj HeefjÞec³e efkeÀeqáeod efJeÊecegHeeefpe&leJeeved?  
   (Ke) leve³e: kegÀ$e efveJemeved DeO³e³eves mebueive: meceYetled? 
   (ie) keÀ©CeeHejes ie=ner keÀmcew DeeÞe³eb Òee³e®íled? 
 
  (ii) HetCe&JeekeÌ³esve GÊejle – (kesÀJeueb ÒeMveÜ³eced)                     2 × 1 = 2 
   (keÀ) me efHelee efkeÀceLe¥ J³eekegÀuees peele:?  
   (Ke) me: eEkeÀ efJe®ee³e& HeeMJe&eqmLeles ûeeces jeef$eefveJeemeb keÀleg¥ keÀeqáeod ie=nmLecegHeeiele:? 
   (ie) Deefpe&lesve efJeÊesve me: peve: efkeÀced DekeÀjesled? 
 
  (iii) efveoxMeevegmeejced GÊejle – (kesÀJeueb ÒeMveÜ³eced)                     2 × 1 = 2 
   (keÀ) ’HejceLe&keÀeM³exve Heeref[le: me: yeme³eeveb efJene³e HeoeeflejsJe Òee®eueled“ De$e JeekeÌ³es keÀle=&Heob efkeÀced?  
   (Ke) `keÀ©CeeHej:' Fefle efJeMes<eCeHeom³e efJeMes<³eHeob efkeÀced? 
   (ie) `Heg$em³e' Fefle Heom³e eEkeÀ He³ee&³eHeob ieÐeebMes Òe³egkeÌleced? 
  
 13. DeOeesefueefKeleb HeÐeebMeb HeefþlJee ÒeoÊeÒeMveeveeced GÊejeefCe mebmke=Àlesve efueKele~                5 
  Jee³egceC[ueb Ye=Meb otef<eleb ve efn efvece&ueb peueced~ 
  kegÀeqlmeleJemlegefceefÞeleb Ye#³eb meceueb Oejeleueced~~ 
  keÀjCeer³eb yeefnjvlepe&ieefle leg yeng Meg×erkeÀjCeced~ Megef®e ...~~ 
  
  (i) SkeÀHeosve GÊejle – (kesÀJeueb ÒeMveÜ³eced)     2  1

2
  = 1 

   (keÀ) peueb keÀer¢Meb ve Deefmle?  
   (Ke) meceueb efkeÀced DeYeJeled? 
   (ie) Ye=Meb otef<eleb efkeÀced Deefmle? 
 
  (ii) HetCe&JeekeÌ³esve GÊejle – (kesÀJeueb ÒeMveÜ³eced)                     2 × 1 = 2 
   (keÀ) ceveg<³ew: efkeÀ keÀjCeer³eced?  
   (Ke) Ye#³eb keÀer¢Meb peeleced? 
   (ie) Meg×erkeÀjCeb kegÀ$e keÀjCeer³eced? 
 
  (iii) Yeeef<ekeÀkeÀe³e&ced – (kesÀJeueb ÒeMveÜ³eced)                                      2 × 1 = 2 
   (keÀ) `yeng' Fefle Heom³e He³ee³e&Heob efkeÀceeqmle?  
   (Ke) `Devlejd' Fefle Heom³e efJeHe³e&³eHeob efkeÀced? 
   (ie) `peueced' Fefle Heom³e efJeMes<eCeceHeob efkeÀced? 
 
 14. DeOeesefueefKeleb veeìîeebMeb HeefþlJee ÒeoÊeÒeMveeveeced GÊejeefCe mebmke=Àlesve efueKele~                5 
  (SleeqmceVesJe keÀeues J³eeIe´ef®e$ekeÀew DeefHe veoerpeueb Heelegceeieleew Sleb efJeJeeob ÞegCegle: Jeole: ®e) 
  J³eeIe´ef®e$ekeÀew – Dejs eEkeÀ JevejepeHeoe³e megHee$eb ®eer³eles~ SleoLe¥ leg DeeJeecesJe ³eesi³eew! ³em³e keÀm³eeefHe ®e³eveb kegÀJe&vleg meJe&meccele³ee~ 
  eEmen:  – let<CeeR YeJe Yees:~ ³egJeeceefHe celme¢Meew Ye#ekeÀew ve leg j#ekeÀew~ Sles Jev³epeerJee: Ye#ekeÀ: j#ekeÀHeo³eesi³eb ve cev³evles 

DeleSJe efJe®eejefJeceMe&: Òe®eueefle~ 
  yekeÀ:  – meJe&Lee mec³eiegkeÌleced eEmenceneso³esve~ Jemlegle: SJe eEmensve yengkeÀeueHe³e&vleb Meemeveb ke=Àleced HejceOegvee leg keÀesçefHe He#eer 

SJe jepesefle efveM®esleJ³eced De$e leg mebMeerefleuesMem³eeefHe DeJekeÀeMe: SJe veeeqmle~ 
  meJex Heef#eCe: – Deeced Deeced keÀeqM®eled Keie: SJe Jevejepe: YeefJe<³eefle Fefle~ 
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  (i) SkeÀHeosve GÊejle – (kesÀJeueb ÒeMveÜ³eced)            2  1
2

  = 1 

   (keÀ) keÀew veoerpeueb Heelegceeieleew?  
   (Ke) `let<CeeR YeJe' Fefle keÀ: keÀLe³eefle? 
   (ie) efkeÀceLe¥ megHee$eb ®eer³eles? 
 
  (ii) HetCe&JeekeÌ³esve GÊejle – (kesÀJeueb ÒeMveÜ³eced)                     2 × 1 = 2 
   (keÀ) le$e efkeÀceLe¥ efJe®eejefJeceMe&: Òe®eueefle?  
   (Ke) DeOegvee eEkeÀ efveM®esleJ³eced? 
   (ie) meJes& Heef#eCe: eEkeÀ keÀLe³eeqvle? 
 
  (iii) Yeeef<ekeÀkeÀe³e&ced – (kesÀJeueb ÒeMveÜ³eced)                                      2 × 1 = 2 
   (keÀ) `SleeqmceVesJe keÀeues J³eeIe´ef®e$ekeÀes DeefHe veoerpeueb Heelegced Deeieleew' JeekeÌ³es eEkeÀ keÀle=&Heoced Òe³egÊeÀced?  
   (Ke) `Heef#eCe:' Fefle efJeMes<eHeom³e efJeMes<eCeob efkeÀced? 
   (ie) `keÀuenced' Fefle Heom³e eEkeÀ He³ee&³eHeob ieÐeebMes Òe³egÊeÀced? 
 
15. jsKeeeq*dkeÀleHeoeefve DeeOe=l³e ÒeMveefvecee&Ceb kegÀ©le~ (kesÀJeueb ÒeMve®eleg<ì³eced)                                 4 × 1 = 4 
  (i) DeelcekeÀu³eeCeced F®íved vej: keÀoeefHe Hejs<eeced Deefnleb keÀce& ve kegÀ³ee&led~       
  (ii) De³eced Dev³esY³ees ogye&ue:~      
  (iii) Hegje lJe³ee ce¿eb J³eeIe´$e³eb oÊeced~ 
  (iv) ®eelekeÀ: Jeves Jemeefle~ 
  (v) leHeesJeveJeeefmeve: peveveeR osJeerveecvee Dee»³eeqvle~ 
 
16. ce¡et<ee³ee: mene³ele³ee DeOeesefueefKeleMueeskeÀm³e DevJe³eb Hetj³ele~                                 4 × 1 = 4 
  ce=iee ce=iew: me²cevegJe´peefvle 
  ieeJeM®e ieesefYe: legjieemlegj²w:~ 
  cetKee&M®e cetKez:, megefOe³e: megOeerefYe:, 
  meceeve-Meerue-J³emeves<eg meK³eced~~ 
  DevJe³e: - 
  ce=iee: (i) _______ ieeJeM®e ieesefYe: (ii) _______ legj²w:, cetKee&: cetKez:, megefOe³e: megOeerefYe: me²ced (iii) _____~ (iv) 

_______ meceeve-Meerue J³emeves<eg (YeJeefle)~ 
 

ce¡et<ee 
 
 

DeLeJee 
 
  DeOeesefueefKeleMueeskeÀm³e YeeJeeLe¥ ce¡et<eele: Gef®eleHeoeefve ef®elJee Hetj³ele~   4 × 1 = 4 
   Dee®eej: ÒeLecees Oece&: Fl³esleod efJeog<eeb Je®e:~ 
   lemceeod j#esled meoe®eejb ÒeeCesY³eesçefHe efJeMes<ele:~~ 
   YeeJeeLe&: - 
   Dem³e YeeJeesçefmle ³eled meoe®eej: peveeveeb (i) _______ Oece&: Deefmle, Fefle (ii) _______ keÀLe³eefvle DeleSJe pevew: 

(iii) _____ j#ee ÒeeCesY³e: DeefHe (iv) _______ keÀjCeer³ee~ 
 

ce¡et<ee 
 

 efJeÜebme:, efJeMes<ele³ee, ÒeLece:,meoe®eejm³e~ 

meK³eced, ce=iew:, legjiee:, me²ced~ 
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mebmke=Àleced 

17. DeOeesefueefKeleeefve JeekeÌ³eeefve Ieìvee¬eÀceevegmeejb meb³eesp³e Hegve: efueKele~    8  1
2

  = 4 

  (i) J³eeIe´: leeb J³eeIe´ceejer celJee DeOeeJeled~ 
  (ii) lem³e Yee³ee& yegef×celeer Deemeerled~ 
  (iii) ceeiex mee SkebÀ J³eeIe´b ooMe&~ 
  (iv) yegef×celeer J³eeIe´peeod Ye³eeled cegkeÌleeçYeJeled~ 
  (v) le$e jepeeEmen: veece jepeHeg$e: Jemeefle mce~ 
  (vi) Deefmle osGueeK³ees veece ûeece:~ 
  (vii) mee Heg$eÜ³eesHeslee efHelegieg&nb Òeefle ®eefuelee~ 
  (viii) mee JeekeÌ®eeleg³exCe yeg×s: ®e Òe³eesiesve J³eeIe´b Ye³eYeerleb ke=ÀleJeleer~ 
 
18. DeOeesefueefKeleJeekeÌ³es<eg jsKeeef*dkeÀleHeoeveeb Òeme²evegketÀueced Gef®eleeLe¥ ef®elJee efueKele~ (kesÀJeueb ÒeMve$e³eced)   3  1 = 3 
 (i) SkeÀ: ogye&ue: yeueerJeo&: Yetceew HeHeele~ 
  (a) ieew:     (b) Oesveg:  
  (c) Je=<eYe:     (d) ceefn<e: 
 
 (ii) leoe le$e megjeefOeHe: Deeie®íled~ 
  (a) ve=He:     (b) ke=À<ekeÀ:  
  (c) Oesveg:     (d) Fvê: 
 
 (iii) vejeCeeb ÒeLece: Me$eg: Deeuem³eced Deefmle~  
  (a) ceeveJe:     (b) efce$eced  
  (c) efjHeg:     (d) mene³ekeÀ: 
 
 (iv) HeÀue®íe³eemeceeqvJele: Je=#e: mesefJeleJ³e:~  
  (a) le©:     (b) Keie:  
  (c) íe³ee     (d) ceeveJe: 
 


